normalized x?

1072

Entries
Mean
Std Dev

107

10

Py i -

o

o i sdasssmcia
o oL

0924 6 8 10 12 14 16 18 20

[[normalized x? probability ]

Ratio

1l
°'9 0.10.2

il
0

]
.3 0.4

* [Entries
Mean
Std Dev

TR I
0.5 0.6 0.7 0.8 0.9

X2 Prob(x?)
—— | -festCowPt_1000evi
s DQM_CKFREFit-testLowPt_1000evt
wmmmm DQM_CKFREFit-OR-testLowPt_1000evt
e DOM_CKFREFit-ORK-testLowPt_1000evt
s DOM_CKFREFit-OR4-testLowPt “1000evt
A F
s 2.4
c
S 22
><
v 2
1.8
1.6}
1.4
1.2
-
0.8
0.6
o i
=
& 105
1
0.9
A2 A2
5 5, .F
£ o £ 1.8:—-
% < 1.6fF-
1. F
v 1§ Vo14f-
1.2F
-
0.8F-
I F
0.6
0.8 0.4
06 0.2F
o v o G
T T
14 14
- 05k
0.95— 033 >
10 10 10

-1
AR(track, jefl’[s)



	Contents
	Page 1


